« Hammer

A EEEIL LI TTEL AL L1 11 A UL N L LR L R R R RS
LR AR AL OO AN T
oY

ools Needed for Installatio

» Socket Wrench

RACK & WIRE"™

(V)]
C
O
)
O
)
fu
)
(V]
£
C
ke,
)
L
I
-+
(V)]
£
()]
=
©
)
L=
-—
=

Level

« Safety Glasses

» Socket Wrench Extension

. 7/16" Socket
« 1/2" Socket
« 3/4" Socket

Hammer Drill
1/2" Masonry Bi

Tape Measure

« Pencil or Chalk Line

» Shop Vacuum Cleaner

« Work Gloves

Step Ladder

Denver NC, 28037

6146 Denver Industrial Park Rd.

huskyrackandwire.com
(Spanish version available online)



GENERAL INFORMATION

Table of Contents

General Information
Prior to Installation

............................................................................................................................................................... 2
OVEIVIEW EXAMIPLE 11utiitiiseieessisresiesssessssessessesssssssres e sssssssssessessesssssessresae s senne s s e seeReeRe e aE e s R e e ae e s e ee s R e Re e REaRe e aE e nRenRe e s e nnesEennnennnnns 3
Lo 1 =V T I =Y =] TSP PPRRRN 3

Installation
Lo 1 11 2 11 = L o o PSP P PSRN 4
{TAT LS Lo LY I Ty =L oo PSP RRP R 5

Door Installation
R TaTe | LSS g T [N 5o o PSR P RPN 7

Single SWiNG DOOT With PAniC Bar ....ciuiieciiieriessiisesesiessss s s sssssssse e ssessns e s s ssssssessssnesnessesssssaessssnssnssssessssnessesssssresnsnnsenns
Single Swing Door with Electric Strike

Single Swing Door with Panic Bar and ELeCtriC StHKE ....uiiuiiriieiiiesesiessrs s sssssse s e e s e srs e s s sns s ssesnessessrssresnssnsenns 13
L Y0 = ULl o XY =1 PSPPSR 15
[ To Y81 o1 TSI} VY] 15T 1 o o ) PSPPSR 16
) KT L= o Yo PP 18
17 Vo ] o Yol S SO PRPPRRRN 22
Double Slide DOOK INSEALLAION ..cvviviiiiiisisiesi s e e e R e b s r e sR e nr e e nns 23
LU0 =18 0o o PP 25
Double TUNNEL DOOK INStALLAtION ..iviiiiiciriris s e s bbb e r e sr e e nns 29
Security Cages larger than 10" tall ....... ..o e e e r e e 31
LTy g e [ =Y 1= 3PS PORRRRPN 32

Wire Installation Instructions Riders
Rider A
Introduction

This document is a procedural guide only and is intended to be used as a reference for installing Husky Rack & Wire
Welded Wire products. Due to the numerous configurations possible for Welded Wire products, the installer must
thoroughly review all instructions and bills of material prior to beginning installation.

Prior to Installation
+ Safety. Ensuring a safe working environment during installation is essential. Make sure that all members of the

installation team are fully trained in proper installation procedures. All installation participants must at all times
adhere to all facility safety policies as well as any federal, state and local regulations that may apply.

« Product Hardware. Inspect all items received and compare to the enclosed packing list. If hardware or components are
missing, immediately call Husky Rack & Wire.

« Site Preparation. Determine the installation location of the product and ensure that the work site has been cleared for
installation.

+ Bracing. If unstable during installation, temporary bracing may be necessary until the product is completely assembled
and anchored to the floor.

Installation Tips

« Two or more person crew is required for installation.

+ Before taking material out of the crate, make sure hardware box was received and placed in proper place.

« Check material with the installation drawing of the layout. Custom items are tagged and need to be staged separately.

+ Panels are installed from inside the cage and drive pins used for securing panels to posts will also be installed
inside of the cage.

« Make sure all posts are installed plumb. Use shims (supplied with kit), if necessary.
 Begin the installation process at a building wall, end of the run or corner of the layout.
+ You can anchor first post. Do not anchor any other posts until the entire cage is assembled.

« Swing Door openings are Nominal -2 1/2" (for example opening for 3' door is 36" minus 2 1/2" =331/2").
Use Transom Panel to get the correct door opening.

+ Slide Door openings are Nominal minus 2 1/2". Slide door opening can be narrowed to adjust the length of the run.

2 huskyrackandwire.com



Z
O
-
<
>
(04
(®)
LL
=
el
<
24
LLl
4
Ll
O

Huf InLNRRRRRRRRRRRRRR Y AN

Nud INLLRLRRRRRRRRRRRRY, an
WL LLLMLLRLRRRRRRRRRRY AW
U INNRRRRRRRRRRRRRRRY, Au
L) LLUNLLRLRRRRRRRRRRY AW
LA LLLLLLRRRL R RRRRRRRY AN
LY LLMNLRRRRRRRRRRRRR AN
LUl LnRRRRRRRRRRRRRRRRS AN

"uY lLLLLLRRRRR R RRRRRRY, AN

Huf ANNNRLRRRRRRRRRRRRY, an

Luf lLLLLRRRRRRRRRRRRRY AN

WL LTLNLLRRRRRRRRRRRRRY An!

LY LLLLLRRRRRRRRRRRRRY AN
LY LLNNRRRRRRRRRRRRRRY AN
"uf InnRRRRRRRRRRRRRRRY An
MUY LLLLLRLLRRRRRRRRRRY AN
Hud LN LNLRRRRRRRRRRRRRY AN

N28
Wall Post

4

Overview Layout Example
Post and Wall Panels

Line Post

A.

Corner Post

Wall Panels

C.

huskyrackandwire.com



POST INSTALLATION

Wall Panels
are installed
on inside

of posts

i
[eTeTe]

(=)
(B

Mark area for line post (A) and corner post (B) installation. Place line post (A) edge to inside of marked area and corner post
(B) as shown.

Note: Posts installed for door opening need to be the nominal minus 2-1/2",

Hardware List 2

AA. Floor Anchor, Washer and Nut (2 per post)
BB. Shim (1 per post)

CC. Drive Pin Am
DD. Stack Clip
EE. Stack Clip Bolt e
FF. Stack Clip Nut é 7

OEG

Place post (line post A shown) into position on marked
line. Drill two holes (at opposite sides of post base) for
first post. Using hammer, install two floor anchors, (AA).
Hand-tighten nut and washer to secure anchor.

4 huskyrackandwire.com



POST / WALL PANEL INSTALLATION

el —

<&

Using a level, check that first post (A) is plumb. Add shims
(BB) to level if needed. Fully tighten anchor nuts.

- "

0%

N AL

s g%

o e5segels

YT e

| g595e%s5

i gegsgesesiy

™ g5s9s585%18

ey

ﬁﬂlli =|\=

gfgh ] I"

’ ’\’ ’ I“

§e53%750s

s5e5e3 58

]

L ’ ’= ; '\’

| N =” o\

RN e e
™ X

N

Place next post into position on marked line.

IMPORTANT: do not anchor additional posts (after the first
post is anchored) until the entire cage is assembled so that
adjustments can be made to make sure the cage is square.

Note: Corner (B) and line (A) posts shown.

o
N
-

S
’y
L x6
S
~
N
~
14
~{
<
S
<L
R
.\\
IS
~
~
N
~
A
£
~
<
~
N
~
~u

On inside of posts, install first wall panel (C). Insert all
hooks on panel into post slots then slide panel down to
engage hooks.

huskyrackandwire.com

Insert drive pins (CC) into wall panel (C) clips. Use a
hammer to fully install drive pins (CC).



POST / WALL PANEL INSTALLATION

Repeat steps 4-6 for remaining posts (A/B) and wall Stack Clip Installation

panels (C). Install stack clip (DD) to wall panels. Secure with stack clip
bolt (EE) and stack clip nut (FF) every 2,

9

===

G-r=

Check to make sure that entire assembly is square (to marked line). Drill two holes (at opposite sides of post base) for each
remaining post. Using hammer, install two floor anchors, (AA) per post. Hand-tighten nut and washer to secure anchor.
Using a level, check that posts are plumb. Add shims (BB) to level if needed. Fully tighten anchor nuts.

6 huskyrackandwire.com



SINGLE SWING DOOR INSTALLATION

Parts List

F. Transom

G. Door Panel
H. Strike Bar

Door Lock

Hardware List
CC. Drive Pins

GG. Carriage Bolt (5/16" x 3")

HH. Nut (5/16")

posts, install transom (F). Insert drive pins

(€C) into transom panel (F) clips. Use a hammer to fully

install drive pins (CC).

On the inside of

are plumb and

)

G

Verify posts being used for door panel (

that the opening is nominal minus 2-1/2".

huskyrackandwire.com



SINGLE SWING DOOR INSTALLATION

IR
NN
NOINON
NONON
NONON
DDD N 4“51\‘\\
N DD Np g X “\':\\\ x3 )
N R RRNRSE
WA RIS
NS 4
RN N AN
NI I N o
P‘H"f .»\qiqi N
(IS ARy 0N o
IR v '4* N S~
RN X3 ~
HRIING B N
il IR < ~
IR N x3
lew,‘l N NONCN R N
NS 2N NN &N N
I\‘ ‘|i~< N N ININON
35§ NONCN
NINN
T NN
S¢ NN
"\‘§\ NN N
(T .\i N\ N
NN
» : =‘. N O\ \
§\§ = i NS
NN N
Nh NN S IS
i }‘jf N N\ R N
13 N 2 AN
I:IPJ**. NONONONSN SN ~e
Iu‘l NN RN
SN NONON
PSR NONONON
SINNNN
S N NONON
NN NINN
N NN
NN \
N NS
N N0

After opening hinge assembly 90°, install the door Install the strike bar (H) to the post opposite of the door
panel (G) to outer post holes using carriage bolts (GG) and panel (G) using carriage bolts (GG) and nuts (HH).
nuts (HH).

Note: Use outer post holes for installation of strike bar.

See detailed lock instructions provided with lock.

8 huskyrackandwire.com



Z
o
-
<
-
I
[
2
Z
o
<
m
—
2
o
L
e
=
(24
O
O
(@]
O
=
=
v
Ll
-
O
Z
wn

llllllllllllllllllllll
o o o o 2 o v
(ZIZZ 2727777 77777777777

Materials List

F.

Transom

p .

© =
@5

= c

c own

© C
D.Oa
h/ﬂ_\B

2T o 5
2 ©®Xx >
— o C e.n_d
Q oh o e U
c x o ©
ST Exg
+ (@]
Optrlt
O g 0R=T
O 00 1w 1
- =0 2 4
orxrdos

Hardware List

GG. Carriage Bolt (5/16" x 3")

HH. Nut (5/16")

00.Self Drilling Screw (#10-16 x 3/4")

PP. Flat Head Screw (#10-24 x 5/16")

posts, install transom (F). Insert drive pins

(€C) into transom panel (F) clips. Use a hammer to fully

install drive pins (CC).

On the inside of

Verify posts being used for door panel with panic bar (G1)

are plumb and that the opening is nominal minus 2-1/2".

huskyrackandwire.com



SINGLE SWING DOOR WITH PANIC BAR INSTALLATION

)
[0
A

V.

NZZZZ7777

A

17777777

WllZ777777
7777771777
F T T 7777

77
/ 47
/ 4
7
Vi
VA

P aw/
o= =s 2 =" /I’/ &)= S
; 2 ¥/ 7AVA )/ VA YAVAYAY 2 AVA
X va )/ val
e e e e I =
MILIII I I 77777777/ AIIIII7 717777

(L7777 /

777777777777

NISSSSSNSNEESA

N\
LY

\

Open hinge assembly 90°, install the door panel with panic

bar (G1) to outer post holes using carriage bolts (GG) and
nuts (HH),

10

Install the top strike bar (H1) and bottom strike bar (H2) to
opposite of the door panel (G) using carriage bolts (GG),
nuts (HH) and self-drilling screws (0O0).

Note: Use inner post holes for installation of strike bars.

Install the L-bracket (J2) to the post using self-drilling
screws (00).

Next, latch receiver (J&) to L-bracket (J2) using two flat
head screws (PP).

Lastly install filler plate (J3) between strike bars using
self-drilling screws (00).

huskyrackandwire.com



SINGLE SWING DOOR WITH ELECTRIC STRIKE INSTALLATION

Parts List

F.

Transom

Door Panel
H1. Top Strike Bar (Long)

G.

H2 Bottom Strike Bar (Short)

J5. Electric Strike

Hardware List
CC. Drive Pins

GG. Carriage Bolt (5/16" x 3")

HH. Nut (5/16")

00. Self Drilling Screw (#10-16 x 3/4")

posts, install transom (F). Insert drive pins

(€C) into transom panel (F) corner clips. Use a hammer to

fully install drive pins (CC).

On the inside of

are plumb and

)

G

Verify posts being used for door panel (

that the opening is nominal minus 2-1/2".

n

huskyrackandwire.com



SINGLE SWING DOOR WITH ELECTRIC STRIKE INSTALLATION

IR
NN
NOINON
NONON
NONON
DDD NN I
NN I
\ DDD NSNS
NON D[\q‘u“‘ OIS
NS SIS
SRR
K pr et u ko Raly
RN N
NI I N
Sraressy A
BRI A
S L, N
1IN NN LA
I P‘H" N =
|‘|Ilsu~4 dIN : : : N
RGN NN N
l“‘\T‘\ NOININN N
! IP.§ NONCN
NINN
T NN
S¢ NN
NS N
DN .i‘: :
1 ... Ny
» ... N N
NN
R
NN N
NN N
SEGY N S
NN NN P2
N
) NONEIOON
5o ANNANANNNREANAN
SN NONON
Sl NONONON
.: NN NN
AN NONCN
N NON
NON
N
N

After opening hinge assembly 90°, install the door
panel (G) to outer post holes using carriage bolts (GG) and
nuts (HH).

D 2

NENE =N

12

Install the top strike bar (H1) and bottom strike bar (H2)
to opposite of the door panel (G) using carriage bolts (GG),
nuts (HH) and self-drilling screws (00).

Note: Use outer post holes for installation of strike bar.
Remove cover from the electric strike (J5) and install

electric strike (J5) to the post between top and bottom
strike bars (H1, H2) using self-drilling screws (0O).

huskyrackandwire.com



Z
o
[
<
-
=
[
(%2
=
Ll
=
2 4
[
w
A
o
[
)
18
—l
(T8
o
Z
<
(a4
<
o
=
Z
<
o
L
E
=
o
o
o
o
O
=
=
(%)

llllllllllllllllllllll
o o o o 2 o v
(ZIZZ 2727777 77777777777

Materials List

F.

Transom

G1. Door Panel with Panic Bar
H1. Top Strike Bar (Long)
H2. Bottom Strike Bar (Short

J5. Electric Strike
J6. Angle Bracket

Hardware List

GG. Carriage Bolt (5/16" x 3")

HH. Nut (5/16")

)

00. Self Drilling Screw (#10-16 x 3/4"
PP. Flat Head Screw (#10-24 x 5/16")

posts, install transom (F). Insert drive pins

(€C) into transom panel (F) corner clips. Use a hammer to

fully install drive pins (CC).

On the inside of

Verify posts being used for door panel with panic bar (G1)

are plumb and that the opening is nominal minus 2-1/2".

13

huskyrackandwire.com



SWING DOOR WITH PANIC BAR AND ELECTRIC STRIKE INSTALLATION

>
w

NZZZZ77777
\.

w.t
G
A V.V.) /)

. /4

A
>

w

>

w

PHE
RS
1% .:
N i<
REH
x : - q
5 :‘ E \E::\
ki ® \:\:
SN
bl Pty ... NN
S5 NI RN
L KK 4] \\ N
Bl N SN QN
DRSS AN L2
N \ P
RSN NN
0N : A
RERTRT R
I .“\ . \\
HIN NN
IR \ W
K S':\ = : //
SN :\ BN N
\: -~ \\
:Q;[”/
\_/
Open hinge assembly 90°, install the door panel with panic Install the top strike bar (H1) and bottom strike bar (H2)
bar (G1) to inner post holes using carriage bolts (GG) and to opposite of the door panel (G) using carriage bolts (GG),
nuts (HH), nuts (HH,) and self-drilling screws (0O).

Note: Use inner post holes for installation of strike bars.

5 Install angle bracket (J6) to back of latch post using self
drilling screws (00). Next install the electric strike (J5)
to the angle bracket using flat head phillips screws (PP),
Remove cover on electric strike to screw it into the angle
bracket.

14 huskyrackandwire.com



SINGLE SWING DOOR HYDRAULIC CLOSER INSTALLATION

Materials List

A1. Hydraulic Closer
A2. Hydraulic Closer Mounting Plate

Hardware List

RR. Closer Mounting Bolts
SS. Closer nuts
TT. Brackets

<8}

\\\—E x2

®
I

Install hydraulic closer mounting plate (A2) onto the
a upper inside of the hinge side of door with closer
mounting bolts (RR), brackets (TT) and closure nuts (SS).

huskyrackandwire.com

g

Mount hydraulic closer (A1) to mounting plate (A2)

using slots in plate and using closer mounting bolts (RR),
closer nuts (SS). Install the door arm closer plate to the
underside of transom panel using closer mounting bolts
(RR), closer nuts (SS).

15



Z
O
-
<
—
el
=
2
=
(04
o
®)
(@)
O
=
=
v
(1
-
[a1]
-
(®)
o

Double Swing Door

Materials List

Door Lock

Door Header
K. Left Door Panel (lock side)

J

L. Right Door panel with Cane Bolt
(receiver side)

Hardware List

(5/16" x 3")

GG. Carriage Bolt
HH. Nut (5/16

")

huskyrackandwire.com

Install left door panel (K) using carriage bolts (GG) and

nuts (HH).
Repeat for right door panel with cane bolt (L).

Install door header (J) to top of posts using a carriage bolt
Note: Header bar should be Installed opposite the swing of
the door (example: If door is swinging to outside of cage,

(GG) and a nut (HH) at each end
header bar needs to be installed on inside of posts

16



Z
o
=
<
-l
m_
[
2]
=
o
O
O
(&)
O
=
=
wv)
L
-
2]
2
O
(]

NSNS NSNS NSNSy /NN IS NSNSNS,
LTI I 777777777777 77777777/l 77777777777
NSNS NSNS NSNSy /(AN IS NSNSNSNE,
LIL LI L7777 7777777777777 77/l Il I 777]
LLLLL LI LI L LI L Ll Il il Il rrrrrrrlr

Open right door panel with cane bolt (J) and drill a 1/2"

diameter x 2" deep hole at marked location.

From inside of assembly, mark cane position.

See detailed door lock instructions provided with lock.

17

huskyrackandwire.com



e
1177777277 7777 7777177777777

I 777 7 2 7 7 I 7 I I 771 7 7 7 7 7 7 I I 77777777777 77%
1 i /

SLIDE DOOR INSTALLATION

=
L
NV
— U -
5 8
]
cC QO
ameD
ST & ¥ E
= U
S 3 3%% < —_ ~
L VS S = =
F O o £ — D =
- A = /
- o = - o~
X wn k> > 3 H 3_"I.,,<IJ
x
. . S xox
5 O O = =
S = .
- — I
8 5 n=% £
= = Zz = — - n o
. : |z P.iC oD Es
4 5.3 |3 B2gs-35353
" — v = = 3 O O NO A)pp
X O = 22 TP M C C o—- v 9 oy 89
Ll 6 C 8 6 © rwm A< O3 220505
-1 o o ~ ]l . - O _ © 08 ©
...larrerr “ | O woortr”rtmm
8 C 0.8 6 0% o 2 OO0 g S>Sm®mwmrs 3 OO
[ 00390003022 W UZUULUUZOO
aDDSDDLFw. aA.DGH <
. . . .| @ o] w . —
S - Z0a Ol> E<oO0wOI==3¥3I
(@]
E3

Panel Kit

X3

Attach track hangers (S) to posts using carriage bolts (GG) and nuts (EE).

Note: If track lands in the middle of a panel a panel kit will be required to secure track.

huskyrackandwire.com

18



SLIDE DOOR INSTALLATION

Insert track (M) into brackets (S). Secure tracks by tightening hex head bolts on top of track brackets (S).

3 DOORS WIDER THAN 5'

,/V ———L L Ly

L - -y

B e

N

o e —————amg

1

@~/ ()

n |
|

Install a door splice (N) to top and bottom of door panels (O, P). Secure with carriage bolts (II) and nuts (JJ).

huskyrackandwire.com 19



Z
o
-
<
-
I
[
2
Z
o
O
o
(@]
Ll
=
-
v

P) and secure

(o)

(

Install trolleys (R) to top of door panels

(49).

with nuts

TSNS SEEEE [/ \.............\

Leave door assembly in middle of track. Install a door stop

(

Align door trolleys (R) with hangers (S) and track (M), and

LL) at

(

KK) and nut

(

huskyrackandwire.com

securing with door stop washer

[

)

T

M).

(

then slide door assembly into track

both ends of track (M).

20



SLIDE DOOR INSTALLATION

l7 Place floor guide (Q) into position flush to inside of the
post. Mark and then drill holes for floor anchors (AA).
Using a hammer, install floor anchors (AA). Install anchor
b nuts (BB) to secure floor guide (Q).

See detailed lock instructions provided with lock. Install latch receiver (U) using carriage bolts (DD) and nuts
(EE). Install bottom door slam (V) using carriage bolts (DD)
and nuts (EE).

huskyrackandwire.com 21



A ‘
I I I I I I I I I I 7 I 7 777777777

IIZZ I I T T I 272 AT I AT T I T I 27 2 TN I T AT T I 77777 T
WZZZZZZZZ 2 2 2 222 2 2 2 2 2 2 22 2 272 0 2210/

DOUBLE SLIDE DOOR INSTALLATION

T
- )
E a 8 c
—
s.8 o g 32
muum c Q “ T -
GO 3 © Q9 c o8
om O T & © €z
rermkr ~ c ..MW
Qc 93 ¢ Q i o S v
Og 8 O @ O S o T s 5¢c
QAU T FF QO 2 N =2 209
= — ~ M —_— -
. . ] " —m 2 =0 .
} oaur |I < T £g 220
%) = nXVA r.nlv mml
: JBoBLL g 8% 51
s = @ = 6060
© > A B = - o3 Mmp
c r Z = —_ — [ ] QU S =
* = L ) = =2 = mu ..MMD:IO
T T . 3 = B4 O 2 5 0 00 z G 83
ol . ¥ T T T Pecc2t22 29 nY ZY o
memnn bo] enne_leeem—.oo -0 Ya & ~N
) O O n © © @ il < < O > O DO K & wo Yo
= B = [ ECORY: B U B s -2 g
P = = O = = © Oortr”rtoo mMs a
s EREREY 2 .wlolomumamuoo as 2985 &
o
+ el lallalh =y M_._”FC.NC.LCND.D £8 b5, =
.Ma 2 e < 4 QWi O . X ] 22 ®ocg5 9
S 20 lw. <00 OwOII =YX 1 m.m_.. %..mm m
B =3
Q Onh 2% 4

22

huskyrackandwire.com



Z
O
-
<
—
=
[
2!
Z
o
O
O
o
Ll
Q
—
%)
Ll
-
1]
-
O
(&)

/_'-/l A\ A W V/VLLL‘FVPPPPPVVVVPV Y

Slide open right door panel with cane bolt (J) and drill a

1/2" diameter x 2" deep hole at marked location.

From inside of assembly, mark cane position.

huskyrackandwire.com

23



TUNNEL DOOR INSTALLATION

Materials List

S. Track Hanger

Door Lock
M. Door Track
N. Splice Bar*

LTI il llilllliilllirfy [
2222 I 2 7 2 7 777 7 777 7]

Y I 2 I I I I I I 7 2 7 7 7 2 I 7 I I I I T T 7 I 7 7 7T 7 777
11 fimm

A AL AL I LI IO I

Latch Receiver
U. Bottom Door Slam

V. Door Stop

T.

0. Door Panel*

W. Caster Plate
X. Caster

Door Panel with

Lock
Q. Floor Guide

R. Trolley

P.

Y. Top Guide

*Only supplied (needed) for doors wider than 5'.

Hardware List

AA. Floor Anchor

BB. Floor Anchor Nut

DD. Carriage Bolt (5/16" x 3")

EE. Nut (5/16")

FF. Door Lock Screws

GG. Carriage Bolt (5/16" x 3 -1/2")
HH. Carriage Bolt (1/4" X 1")

Hex Head Bolt (1/4" X 1-3/4")

1. Nut (1/4")

KK. Door Stop with washer and nut

Attach track hangers (S) using carriage bolts (GG) and

nuts (EE).

Note: If track lands in the middle of a panel a panel kit will

be required to secure track.

x4

24

huskyrackandwire.com



TUNNEL DOOR INSTALLATION

=

Insert door track (M) into track hangers (S). Secure Attach trolley (R) to top guide (Y) with nut (JJ).
by tightening hex bolts on top of each track hanger (S).

Doors wider than 5'
0

Attach splice bar (N) to bottom of both door Attach top guide (Y) to top or door panel (P) with carriage
panels (O, P) with carriage bolts (Il) and nuts (JJ). bolts (Il) and nuts (JJ).

25 huskyrackandwire.com



Z
o
-
<
-
=
[
ol
Z
o
O
®)
(]
-
Ll
r
r
-
-

using carriage

)

P

Attach caster plate (W) to door panel (

bolts (HH) and nuts (JJ).

Attach casters (X) to caster plate (W) using hex head

bolts (I1) and nuts (JJ).

Align trolley (R) with track hanger (S) and slide top slice
bar with bracket (Y) and door panel (P) assembly onto

door track (M).

26

huskyrackandwire.com



TUNNEL DOOR INSTALLATION

Install a door stop next to the door opening with bolt (V)
into hanger (S).

. &

S

Place floor guide (Q) into position. Mark and then drill
holes for floor anchors (AA). Using a hammer, install floor
anchors (AA). Install anchor nuts (BB) to secure floor

guide (Q).

See detailed lock instructions provided with lock.

27

Install latch receiver (U) using carriage bolts (DD) and nuts
(EE). Install bottom door slam (V) using carriage bolts (DD)
and nuts (EE).

huskyrackandwire.com



DOUBLE TUNNEL DOOR INSTALLATION

Materials List

Floor Guide

Trolley

Q.

Door Lock
Door Track

N. Splice Bar*

R.

M.

Track Hanger
Door Stop
W. Caster Plate

S.

V.

Door Panel*

O.
P.

Door Panel with
Lock Opening

Caster

X.

()

S

5

]

&

T

>

4
25
< O
Uo
—aoF
5§
© O E
D.Mh
P 9]
ox [
0oL
Om<
m
a

*Only supplied (needed) for doors wider than 5'.

SN Sy
LI I I I I I 77T I 77777777

Hardware List

AA. Floor Anchor

BB. Floor Anchor Nut
EE. Nut (5/16")

a/2)

)

Hex Head Bolt (1/4" X 1-3/4")

1. Nut (1/4")

x3

GG. Carriage Bolt (5/16"

HH. Carriage Bolt (1/4" X 1

KK. Door Stop with washer and nut

8 2 0 0 0 1 0] 1 i

Complete Steps 1-10 Tunnel Door Installation.

Repeat Steps 1-9 Tunnel Door Installation using door

).

P3

(

If door installation is wider than 5, also use remaining

panel with crane bolt and padlock attachment
door panel (0).

Proceed to step 2.

28

huskyrackandwire.com



<
o
-
<
-
I
[
2]
Z

Slide open door panel with cane bolt (J) and drill a 1/2"

diameter x 2" deep hole at marked location.

From inside of assembly, mark cane bolt position.

huskyrackandwire.com

29



SECURITY CAGES LARGER THAN 10' TALL

Parts List

Z. Post Extension
LL. Post Extension Splice E—

Hardware List

MM. Hex Bolt 5/16" x 1"
NN. Washer 5/16" SS

2o oo

oa/
EZ ¥
~

131

@ &
Com
N
-
/
S
Hss
a\

<> / :
9
%
. ﬂ
A/Bl "
ﬂ Y|
®
(
Post Extension Installation (Specific Installations Only) Post Extension Installation (Specific Installations Only)
Install splices (LL) into top of installed post (A/B) using hex Install post extension (Z) to top of installed splices (LL)
bolts (MM) and washers (NN). using hex bolts (MM) and washers (NN). To ensure proper

installation, the measurement from the bottom of the
tube to the bottom of the first punch should be 2-1/2".

huskyrackandwire.com 30



CUTTING PANELS

Hardware List 2

VV. Left Vertical Clip

WW. Right Vertical Clip
XX. Left Horizontal Clip E“
YY. Right Horizontal Clip

K3}
=]
VvV
fo]
3
YY
=]
Cut wall panel (C) to desired height using a hand grinder. Cut wall panel (C) to desired width using a hand grinder.
Install a left horizontal (XX) and right horizontal (YY) clip Install left vertical (VV) or right vertical (WW) clips to wall
to wall panel (C). panel (C).

Note: There will be 3 of left and right vertical clips included
in kit.

HUSKY

RACK & WIRE"™

6146 Denver Industrial Park Circle | Denver NC, 28037 | 704.483.1900
huskyrackandwire.com

Revision 000 (09/12/2023)



